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eg In 2019, given there is a@robability that any given adult knows of Twitter,
use the binomial probability formula to find the probability of getting exactly

three adults who know of Twitter when five adults are randomly selected.
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Eg. Assume that randomly guesses are made for 8 multiple choice
guestions on an SAT test, so that the probability of success p =0.2.
Find the probability for:

a. the number of x of correct answer is exactly 7. < — asé for P()
b. the number of x of correct answer is fewer than 5.

c. the number of x of correct answer is at least 2.
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Eg. Assume that randomly guesses are made for 8 multiple choice
guestions on an SAT test, so that the probability of success p =0.2.
Find the probability for:
a. the number of x of correct answer is exactly 7. e
b. the number of x of correct answer is fewer than 5. .~
c. the number of x of correct answer is at Ile?lst 2.
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eg

Assume that when human res

rce managers are randomly selected, 41% say job applicants should

- them say jo apphcants should follow up within two weeks.

folltwo weeks. I uman resource managers are randonWEélected, find the probability
that
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eg McDonald’s has a 95% recognition rate. A special focus group consists of 12
randomly selected adults. For such a group, find the mean and standard deviation.
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eg McDonald’s has a 95% recognition rate. A special focus group consists of 12
randomly selected adults. Use the range rule of thumb to find the maximum
and minimum usual number of people who would recognize McDonald’s.
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